Dry Systems’  M261-502-01 Head Light
Technologies SECTION 7-09

[T —

WIRING INSULATION
USE THE FIBERGLASS SLEEVING ITEM TO ISOLATE AND
INSULATE THE INCOMING CABLE WIRE

ltem  Part Number Qty Description

1 M261-502-07 1 Short Alum. Lens Ring Assembly PA Approval No. 1246-94
2 M261-502-16 1 Holder Lamp and Camera XP Model No. MCISOXP

3 M261-502-17 4 Bulb Warning Label XP Approval No. 3938-0 &-1
4 M261-502-04 2 Snap Ring

5 M261-502-06 1 Black Ring

6 M261-502-05 1 Star Lamp Holder

7 M261-511-01 1 50W 12V MR-16 Bulb (Comes with)

8 M261-502-02 1 XP Socket Clip

9 M261-502-09 1 Aluminum Housing

10 M261-502-10 4 Drive Screw

11 M600-123-01 2 3/8” Lock Washer

12 M600-186-01 2 3/8”-16 x 1-3/4” Hex Head Bolt

13 M261-502-11 2 Mounting Pad

14 M261-502-08 3 1/4”-20 x 1” Set Screw

15 M261-502-12 1 PA Tag

16 M261-502-13 1 Certification Tag

17 M261-502-15 2 #8-32 x 3/8” Flat Head Slotted Screw

18 M261-502-03 1 O Ring

19 M261-523-01 1 35W Lamp (Alternate Option)




